& a) j;ljj (\—2c039>149 |- 2e0s6 = 0
0 Cosesé

ércos"(l;;)
7

b) X= YrosG = (l"’lCOS@}COSG
y=r §in = (1-2cos@)sinb

f;% = | \—Zc039)<-5\'n9) +(C050’)(2.Sin6>

32 - (]- Zco56> <c°s(9> 3 @Sne)(.lsivx9>

C ope- =— - 2
) slope- = % s \ = (1-a-0(0) + (D)
o= %

ax. —
IS (1-1:0) (= 1)+ (0) (- 1)
e
point (0) l> |
x= (|-2-0)0= 0 3_|;—z(x-o)

9:(‘—2'O>‘: ‘ Y= -2 x¥\



%9» Ob ’2_-:[_0_i of circle
3600 4 3 2
7 - I 1
-g (T“'(L} 2 ( 3*1«::39’) 0\6‘ ot (0370
2ry3
b> r =34 2cos &

|, e, = - asme] | --2(%)
acl o|E
dk o=, do _— el 07,
= -\3
—-1.732%

When © ’T’g) Fhe W-\'{c\e, 'S
WOV\'M;) closer to Ha pole.

Since v (S oative.
4 M/Qb

C> g}% = i = (3-\- 2eos 9’)(@59) —\‘(5\;,\@)(_ &s(né>
= ()l @)-0)
3: rsimB = (3+Zc036) (S’?n@) _

0%,
= 2_—\- «i by _;,/
W e 9:'\'/;’_‘ /\M\L W‘&s‘c\e— (g W»DV(V\BA

aM)aA)—(:YOM Yol X-ax1S since A_J;>D



